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Tabulature de Leut, v.3 (1554), f.4. Encoded and edited by Sarge Gerbode.

2) "e" in orig.
1) "d" in orig.
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2) "e" in orig.
1) 5th course in orig.
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


















































215 




















































































220 











1)
















































2)



















225 






























- 3 -

2) note missing in orig.
1) 2nd course in orig.


























230 


























































235 













































































240 











































































245 
































































250 























































255 




































































260 
























































265 











1)
























































270 
























































275 






























































280 



















































285

2)
























































290 

























































295 




































    



















- 4 -

2) "f" in orig.
1) "c" in orig.


